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(2) 7792 (3)

(@ “Cost Acéounting is a system of foresight and not a post- » (F) AT ATTHI W’Sﬁ guel! ¥ ST AT

mortem, it turns losses into profits, speeds up activities

et @ a9 FT o & ol SRamet Y X H!
2 F W T WA © 7

and eliminates wastes.” Do you agree ? 6

(b) The following information is related to Material X :

(@) wqd x ¥ Hafg gEad freafafed €

Maximum Consumption ~ 600 units per month )
fererad @ad A 600 I Ffd HE
Minimum Consumption 100 units per month | = @d 100 ?{ﬁ? gy A
Normal Consumption 300 units per month M @ud 300 gf1e gfa =
Yearly Consumption 3,600 units | A 3,600 fTe
Storage Cost 50% of Stock Value SSUSUENIHE =6 & 9T T 50%
R ASH HI ARTG 400 T. gfa TRy
Ordering Costs Rs. 400 per order
o Tgrd St &iEd 64 T. Ui iy
Price of Material Rs. 64 per unit :
@ HiST :
Find out : l
. , | () AR F WX
()  Re-order Level | : () IAdH Eh &R
(i) Minimum Stock Level (i) YR mf ESSES
(iif) Maximum Stock Level ‘ () sl Wi -
9 P.T.O.

()  Average Stock Level.
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(®)

(4)

)
Or (W)
Distinguish between :
()  Fixed and Variable Costs
(if)  Direct and Indirect Costs
(iif)  Cost Control and Cost Reduction: | 6

Prepare Store Ledger using “Weighted Average Method”

of valuing the material issues from the following details

of store receipts and issues of Material “A” :
March 1 Opening Stock 2,000 units @ Rs. 5.00 each
| 3 Issued 1,500 units
4 Received 4.,500 units @ Rs. 6.00 each
7 Issued 1,600 units

8  Returned to stores 100 units by production

department from the issue of March 3

15 Received 2,406 units @ Rs. 6.50 each

. e
18 Returned to suppliers 200 units from th

material received on March 4

(5) 7792
24 Received 1,000 units @ Rs. 7.00 each :
26 Issued 2,106 units
27 Received 1,200 units @ Rs. 7.50 each
31 Issued 2,800 units

Use rates up to two decimal places. What is the

quantity and value of the material consumed in the

month of March ? 9
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(6) TN
3 1,500 gfFE SR WY

4 4,500 I 6.00 T WA I W W H
B
7 1,600 g SR wT T®
§ IARA TaVFT g 3 A R S @ TR
100 gF¥ “er § Ao w
15 2,400 IS 6.50 T Wi e WM W |
T TR
18 e w1200 IS, 4 WE HY A R
T w9 T |
2 1,000 I 7.00 & URT FfE F T A
T TS
% 2,100 IFTE S T
2 1200 gFE 7.50 T W g F
RIS
31 2,800 I S @ TE

=i F1 QA <vHEE TE qw A Fg | A
T H @uq w7 wnni w5 e iR ged
T2

(@)

®

(7) g

In a manufacturing concern, overheads were recovered
at a predetermined rate of Rs. 25 per labour hour. The
total factory overheads incurred were Rs. 40,00,000 and
the labour hours actually worked were 1,50,006. Out of
the 40,000 units produced during a period, 30,000 units
were sold. On analysing the reasons, it w;is found that
60% of the unabsorbed overheads were due to defective
planning and the rest were due to increase in overhead

costs. How would unabsorbed overheads be treated in

cost accounts ? 6
Briefly explain :

()  Difference between allocation, apportionment and

absorption of overheads

() Difference between Joint Products and

By-products

(5ii) Treatment of interest on capital in C
ost

Accounts.
Q
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(%) % o gfasem # uferl w1 Efeifa
25 % Ufa oM w9 W agd TR e b @

F T 40,00,000 T. & IR arera & 1,50,000

s ue M fran) Icafed 40,000 IFE | A Tm

ety § 30,000 IS 9T X | HRON 1 Forgemm

F TG T foh 60% et Suiter o

AT F F ¢ A 3 A SR A F
qﬁ;%mumﬁ@'ﬁsﬂmﬁhﬁa.wﬁmﬁ

% foa yHR weifa =8 2
(@) 989 A = v .

0} mﬁwﬁ%ﬁﬁuﬁ,uwaﬁmﬁwﬁ

31.?“'
() UIR IO AR IR H W
(i) T G H St W S qe9 |

Or (3T¥a)

A manufacturing company has two identical large and four
identical small machines. Each large machine occupies one quarter
of the workshop and employs fully three workers and each small

machine occupies half the space of a large machine and employs

fully two workers. The workers are paid by piece work.

(9) 7792
Each of the six machines is estimated to work 1,440 hours per
year, while the effective working life is taken as 12,000 working
hours for each large machine and 9,000 working hours for each
small machine. Large machines cost Rs. 20,000 each and small

machines Rs. 4,000 each. Scrap values are Rs. 4,000 and Rs. 100

respectively.

Repairs, maintenance and oil are estimated to cost for each large
machine Rs. 4,000 and each small machine Rs. 1,200 during its

effective life.

Power consumption costs 5 p. per unit and consumption for

a large machine is 20 units per hour and for a smal] machine

2 units per hour.

The manager is paid Rs. 4,800 per year and workshop supervision
occupies half of his time, which is divided equally among the

six machines.

Rent and rates to the workshop total Rs. 6,400 3 year and lighting

(to be apportioned in the ratio of workers employed) 1,820 5

- year.

Taking a period of three months as 3 basis, calculate th
’ e

machine hour rate for a large machine ang a small mach
i chine

r;:s ectively.
p y 15
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(10) o
& fof w0l & 99 QA THEEE 988 3R TR TwEhm

o T ¥ TAE 9 W wEmen § U<

fen W WA ¥ AR AN iRl | @ W FW i
T 3R Tw I WIF IS W | A e A

T IR oid:  wfR | FW @ B wiw w® o
% feom ¥ Y@ fen smn R

E:Wﬁﬁ@%ﬁﬁﬁw: 1,440 B2 1
FA § SafE et franie sen vow et weie
% T 12,000 FERTE R IR 7w 9@ Wi ® fag
9,000 FTIRNA B BT § 1 S WM 20,000 . Wit wei=
A F T IR DR T 4,000 T Ufa WA wrT@ Y
Tl TS W goT HEM: 4,000 T A 100 T ¥

TIF TS HINA i HOHG, TEREE IR A hi A

TG 4,000 . 3 Y% DIl HINA I GHET Siaq &
SH 1200 & &I

foorett =t @wa 5 1 wfy gfe ¥ &l o€t wiw & fe

foelt = =w 20 IR Wf Her qm B W WL

2 e ufa s ¥

YSHE H 4,800 T WA I8 fE W & iR wrivmen
& Ay § S wHg %1 ol ol ¥ R ©: Teie
W TER-/ER &2 @ ¥y

(11) 7792
FRTEn & fRIT e g8 W HA 6,400 T G qH A1
€ 3R T g w1 W 1,820 T 9 = o § 58
g wdufEl & oo § wwifsa fFea S ©

IMUR $ ®Y ¥ 99 A & Aafy oy, I TIiA

R VA "yt w1 wEw: AW e e uiwfad
T |

V Ltd. furnished the following information for 10,000 TV valves

' manufactured during the year ending 31st March, 2017 :

Rs.

Material 90,000
Direct Wages 60,000
Power and Consumable Stores 12,000
Indirect Wages 15,000
Factory Lighting 5,500
Defective Work (Cost of Rectification) 3,000
Salaries and Management Expenses 33,500
Selling Expenses 5,500
Sale Proceeds of Scrap 2,000
- Plant Repair and Depreciation 11,500

P.T.O.



(12) 7192
The net selling price was Rs. 31.60 per unit sold and all units
were sold. As from 1st April, 2017, the selling price was reduced

to Rs. 31 per unit. It was estimated that production could be

increased in 2017-18 by 50% due to spare capacity. Rates of -

materials and direct wages will increase by 10%.
Prepare :

(7))  Cost Sheet for the year 2016-17 showing various elements

of cost per unit; and

(i)  Estimated cost and broﬁt for 2017-18 assuming that
15,000 units will be produced and sold during the year
and factory overheads will be recovered as a percentage
of direct wages and office and selling expenses as a

percentage of works cost. 15

v fafie 3 31 7, 2017 = warw g@ 99 & SRE 10,000
A e & Ftn & fou feafafea geand <
T

.

wrht 90,000
T WSt 60,000
oot qon sweis ofer 12,000
SEREEEE MU 15,000

A T W 5,500

(13) 7792
v wrd (ﬁﬁ?ﬁuﬁ & ) 3,000
qa A YA T 33,500
[EERIRCE] 5,500
W@ e  ft ¥ Wi 200
TIT &t AOHA IR Yo 11,500

fraa fawa wima =t T 9fd g 31.60 T off R Wit
e aa § gt 1 o¥a, 2017 ¥ fowa wima
31 %. 9fd g = i /@ 911 SIHE o T o
o SRA H 2017-18 H 50% FGET ST HHdT ¥ HifH
WO, &9 ST © 1 W & iR ye aeigREl
w1 R 10% g ST |

TR HiT

0] Hﬁfzolé-n%ﬁ—rqvimﬁ—‘éﬁzﬁmﬁwﬁ'{ﬁzm
& fafv= ol & weidfa fo = |

() 2017-18 % fo@ SgfTa @ SR &Y, I® WHET
&% 15,000 g w1 IARA BT IR A 39 T I
<t St | et Sufierat H wrE-wrTd 5t i
& ®Y gy TSRRE ok sEiem qw fwg
T ® yfavaa & ®9 # oaga few Smwm
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(14) | 779
Or (311d)

Distinguish between Job Costing, Contract Costing and
Process Costing. Name any two industries each in which

these costing type would be suitable. 6

A construction company undertook a contract at an
estimated price of Rs. 108 lakh, which includes a budgeted
profit of Rs. 18 lakh. The relevant data for the year ended

31st March, 2015 are as under :

Rs. 7000

Materials issued to sites 5,000
. Direct wages paid 3,800
Plant hired ' 700
Site office cost . 270
Materials returned from site 100
Direct expenses 500
Work certified 10,000
Progress payment received 7200

A special plant was purchased specifically for this contract
at Rs. 8 lakh. After use on this contract till the end of
31st March, 2015 it was valued at Rs. 5 lakh. The cost

of material at site at the end of the year was estimated

(15) 7792

at Rs. 18 lakh. Direct wages accrued as on 31st March,
2015 was Rs. 10,000. Prepare Contract A/c for the year
ended 3 1st March, 2015 and compute the profit to be taken
to the Profit and Loss Alc. 9

(F) ﬁa%m—ﬁaﬁw,ﬁﬁmmﬁaﬁwaﬂtm

T ke § i wasul el o A &
9 SarET f58 Q@ &% & fag ara R fmE
ST B

(@) W fiar SO Y TH GfaST 108 TR ¥UC HT

sAfE HiHa | A fomn fEd 18 o T A
| o Y WEA ¥ 31 A€, 2015 1 G §U
T & fou o e 39 UER ¥

T T A
Al WEe W SR W TR 5,000
vy AR d 3,800
a3 feae W fomn 700
WEe W HEEd St Ard 270
e Q G STE wrE 100
Jag T 500
Feafua 10,000
Ty Rl T g 7,200

P.T.O.



(16) 779
@meiwm¢m8m
5.ﬁ@ﬁmww31m€i,2msﬁmﬁw
W W I AW D AR ey
ST T AT kI W WS W umh w
T 18 W T ST A T o 3 e
2015 T IUFa FeAsl HEGHAT 10,000 % Y off | 3

T, 2015 Y TG T W @ et s oran YR
ﬁﬁqaﬁtmwzﬁaﬁﬁ@rmwm
1 AR HifSu

Rakesh owns a bus which runs according to the following
schedule :

()  Delhi to Chandigarh and back, the same day; Distance
covered : 150 kms. one way; Number of days run each
month : 8; Seating capacity occupied : 90%. |

(i) Delhi to Agra and back, the same day; Distance
covered : 120 kms. one way; Number of dayS run each
month : 10; Seating capacity occupied : 85%.

(ii)

Delhi to Jaipur and ’back, the same day; Distance
covered : 270 kms. one way; Number of days run each
month : 6; Seating capacity occupied : 100%.

The following are the other details -

Cost of the bus Rs. 60,00,000
Salary of driver Rs. 20,000 p.m-
Salary of conductor Rs. 20,000 p.m-

7792

(17)

Salary of part time accountant Rs. 10,000 p.m.
Insurance of the bus Rs. 48,000 p.a.
Diesel consumption 4 kms. per litre @ Rs. 40 per litre
Road tax Rs. 12,000 p.a.
Libricant oil Rs. 10 p.er' km
Permit fee Rs. 4,600 p.m.
Repairs and ;naintenance | Rs. 14,400 p.m.
Depreciation of the bus @ 20% p.a.
Seating capacity of the bus 50 persons

Passenger tax is 20% of the total tai(‘ings. Calculate the bus fare

to be charged from each passenger to earn a profit of 30% on
total takings. The fares are to be indicated per passenger for
the journeys from :

()  Delhi to Chandigarh

(@)  Delhi to Agra

(ii))  Delhi to Jaipur. 15

T % T o A e s 3 s
W% ’
O feoeht & < e o o A
T 150 fEl. T WH; FoOw HE Sl KA ®
- W& g, W W &HA 6T 90% FAT g3

P.T.O.



(18) 719 |
(19) 7792
i ﬁ@ﬁamﬂtmﬁﬁq;@@ﬁ.ﬂé I T B WG BT 20% §1 HS WA W 30% A
120 frelt. TR T; T WE Oe G W wem

@ o A F & fau ofr aoh A fog o O @ @
10: FHA HT 85% B o fert 1 aRerert ifsa | farrlt =t wfa anit fer amnei
Gin  foeelt ¥ AR iR oo S G g @ owm | % fo wam ¥

270 fFell. T WE; TS WE el Gl W gen ) oot ® wEmg
6: TSl WY & B 100% FAT T3 L

| Gy Teoet ¥ eww
5 TRUR T OUER ® ¢ |
| Giy Teeet | SEqR|
E & AN : 60,00,000 T- .
! P Or (31a)
FRA H1 A 20,000 %. Id TR _ .
: _ \ (@) Find out the equivalent production from the following
FEFRI F AAT : 20,000% HfAWE | data under the FIFO method :
- | .
.3I5[3;[i5[5; R T ‘ 10,000-5"9%1:"_6 ‘, Opening work in progress 4,000 units
H HT S 48,000 T. Hfd =T \ Degree of completion : Materials 80%
| ‘
4 . wft R & feam ¥ @ W @ EE Lsiboar 60%

Eieel 40 . Ufa o ¥

- Overheads 60%
TUEH ' 12,000 &. ¥ o

Units introduced 16,000 units
et @ 10 . uf femelt. | |
fie ‘ ‘ ' Closing work in progress _ 6,000 units

jh 4,600 %. 9fd AE | R
e ’ | Degree of completion : Materials 80%
oG SR TeEE W' 14,400 %. WA AE | |
Labour 60%
Rl R Gl 20% U ad
w9 5 Overheads 60%
| 6
a9 Al wY & 50 Tf Assume there were no process losses.

P.T.O.



(20) 7% (21) 7792

(5) A product passes through two processes. The output o L LEk 16,000 12
process | becomes the input of process II. The quantity i w1 wify w 6,000 g7 =
of raw materials introduced in process one is 20,000 kg Tyf?n H Hwfe - qreit -
at Rs. 10°per kg. The cost and output data for the month oY 60%

: o
as follows : _
, Sufteay 60%
Process I Process 1] TR aﬁﬁ'q i m F a aﬁé ETF'I Ta"'f
Direct materials Rs. 60,000  Rs. 40,000 ES‘I
Direct labour . Rs.40,000  Rs.30,000 (@) TF IR ST IfEEs § dw e 3
| | - FIRAT | T ST FHA 1 P = s
Production overheads Rs. 39,000 . Rs. 40,250 | gfear 1 § yfgs F= T 10 T yhy =5
Normal loss ' 8% 5% | - W 20,000 fFm. ®1 @rT qen 3G sﬁaré' 39
| A & foau feafafes § .
Output (in units) 18,000 17,400 |
| uferar 1 wfeRar it
Loss realisation of Rs./unit 2.00 3.00 \ :
| . Ty |t 60,000F. 40,000 %.
The company’s policy is to fix the selling price of the | , ;
| Lt 40,000%.  30,000%.
end product in such a way as to yield a profit of 20% | ~
on selling price. Prepare Process A/c and determine the | AR 3 ll[ g 39,000 % 40,250 ®.
selling price per unit of end product. 9 | I\ g+ o 8% 5%
|
(%) FiFo faf & qea Frafafen sifwst § Tged ST - SORA (FfE H) 18,000 17,400
A s . | gfqd gfe & =t el 200 3.00
IR F % wig 40009 |  FE W Afy st s @ fwa w0 W@
IiE" aﬁ ﬁﬁ! : 'H]ITI;ﬁ | 80% ) Eli'a?) @ a’q a;lq 35'1 % |:?R:|@ l:élaizl a;"qi' L4 ?O%
| | T T & T | WiewaT oRan AR i iR Sl
5T 60% | TR Y gl gfe faga wima &1 i HT

9Ty 60% el



(22) %

The following figures were available for a company fo; the

year ended 31st March, 2017 :

Financial A/c Cost A/c¢

(Rs.) (Rs.)
Opening Stock :
Raw Material 6,000 5,000
Work-in-progress 7,000 6,500
Finished Stock 5,000 ' 4,500
Closing Stock :
Raw Material 4,000 4,300
Work-in-progress 3,000 3,700
Finished Stock 5,900 6,200
Purchases 40,000
Direct wages ’ 20,000
Indirect wages . 3,000
Factory expenses 17,000 21,000 (absf’rbed)
Sales 1,10,000
Administration expenses 3,000 2,300 (absorbed)
Selling expenses 4000 4,500 (absorbed)
Financial expenses 1,000
Interest received 1,600

REE R

(23) 7792

Compute the profit in Financial Accounts as well as in Cost
Accounts and prepare Reconciliation Statement showing clearly

the reasons for the variations of the two profit figures. 15

31 |1, 2017 S G9M< BT 99 & o &9t & G99 A
frafafea sifee Sueey ¥ :

faodaa@r  nE Tar

€ (%)

SR e :

Al Al 6,000 5,000

%1 wIfa W 7,000 6,500

TR wih | 5,000 4,500
Jifom Wi :

T A 4,000 4300

% yifd W 3,000 3700

IR 2 5900 6,200
SiiC 40,000

A HegREr 20,000

ST A RET 3,000
17000 21,000 (STaLN)

1,10,000

P.T.O.



| (24) | - 7792 .

Wﬁ*@ﬁ S 3000 2',300(3163?@3)1
ﬁm@% I | 4,0'00‘ 4,500 (STIRNIE)
ﬁ*ﬁq@% - T

SIS T g - 1,600

ﬁﬁaé@ﬁxm&ﬁmmﬁmwﬁw
'ﬁmaﬂtmmmmmaﬂmmfrwﬁ%a

mﬁﬁfwﬁmmaﬁwmﬁﬁ@m

oG
" (a) ‘Whiat is Iﬁtggratgd,‘ Accoﬁntiﬁg ? é;ate its advantages. | 6
® Write short notes on
(i)_ Pe{betual‘ invéntory' sySterﬁ s
(i)  Activity Based Costmg

(iii) Idle tlme

7792 o



This question paper contain@ Prmted pages] ’g/ ’\// /8/

Roll No.

S. No. of Question Paper : 7793
Unique Paper Code | . 22411402
Name of the Paper

Name of the Coufse

| Semester 1\

~ Duration : 3 Hours - Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt of this question paper.)

Note :—  Answers may be written either in English or in Hindi;

but the same medium should be used throughout the
paper.

feoquft wmqﬂwwaﬁ?ﬁm%«—cﬁwWW
. \ﬁa’ﬁqﬁmmﬁaﬂﬁwmmwém
e |

Atteﬁpt All questions. |
Marks are indicated e;gainst each question.
' 'Simplé calculato} is alloWed.
.Log, annuity 'tai)les and graph paper may be provided.
et g i
TIF U F S S W Ry oy §,
A, Q?{a Fd IR UrE TR e sl

PT.O.



@

(2) 7793

One unit of commodify A is produced by combining
1 unit of land, 2 units of labour and 5 units of capital.
One unit of B is produced by combining 2 units of land,
3 units of labour and 1 unit of capital, one unit of C is
produced by 3 units of land, 1 unit of labour and 2 units
of capital. If the price A, B and C are ¥ 27, % 16 and

% 19 respectively, find the rent R, wages W and rate of

interest 1. 4

a@,Aaﬁ@‘LﬁE?\W@?ﬁ%J?ﬂﬁz Wfa,
2 e s SR 5 g o /; B & wE YR
2 g afH, 3 Ifte o o1 i I @1 frem

qr c w ™ e 3 Ife o, 1 gfe sm eiR
2 e ISt w1 e T R S E Al A,
B 3R C & HiAq HEI:T 27,2 16 ART 19% A

fetan R, Ao w SR =S @ 1 T S

Or (3T

The following matrix gives the proportionate mix of

constituents used for the fertilisers :

Constituent
A B C D
I 05 0 0.5 0
Fertiliser | 02 03 0 0.5

(3) 7793

()  If sales are 1000 tins (of one kilogram) per week,
20% being fertilizer 1, 30% being fertilizer 2

and 50% being fertilizer 3, how much of each

constituent is used ?

(i) If the cost of each constituent is 50 paise,
60 paise, 75 paise and 100 paise per 100 grams,

respectively, how much does a one kilogram tin

of each fertiliser cost ?

(i)  What is the total cost per week ? 4

Frefofr Az et % e v ST
fag fgg @ ¥ .

Tk
A B c
I 0.5 0 05 " o
= I 02 03 0 0.5
M2 02 o g
) Wﬁﬁﬁgﬁmloooﬁﬁ%(m‘
1T 1) 39/ 209 et 1, 30% St -

ﬁTSO%ﬁWB@,ﬁmmW:
v e smom 2

P.T.O.



(b)

(i) 9ff e HS AN T T 7

(4) 1193

(il afe YE TEE H ATE R S0 R,

60 3 75 T/ 3 100 T T 100 TH A <@
@ | fEm A § s Sth i i
T ?

A hypothetical economy produces only two commodities |
X and Y. The two commodities serve as intermediate inputs
in each other’s production. To produce a unit of X, 02 |
unit of X and 0.6 unit of Y are needed. To produce a
unit of Y, 0.4 unit of X and 0.3 unit of Y are needed.
3 and 5 labour hours are required to produce @ unit of, |
X and a unit of Y re.spectively. The wage rate is ¥ 20
per labour.hour. If the final demand of X increases by

150 units and that of Y decreases by 120, units, find :

()  Change in the gross outputs of each of the two

commodities,
(i)  Change in labour requirement,

(i) Change in the value-added in the two producmg

\
sectors. 8

Wmaﬁwmxai‘rwm?ﬁﬂ@‘
mmm%lﬁaaﬁi@@ﬁm
# g fifre @ w9 A wAm w ST gl X
ﬁwﬁﬂﬁnmﬁﬁovqﬁzxﬁ@?
0.6 12 v & WRIM%IU‘FWY#‘W

mﬁﬁouﬁﬁzxaﬂaﬁtmqﬁzyﬁmﬁﬁ
3 x ok y B wH-uw gfe ¥R F T
s 3 3 5 o 59 T ErvE g g | Hogd
T 720 IR g w1 AR x w SAfH A
150 9fe @ St & i y @t =i 120 PfE W
@& 7 awgel # ¥ TE ® gHe e
T gfada
() #M H TE@ ¥ gREdd
(i) RN IAEA D H HeI-Afea afEd |
Or (3191)

A three sector economy has the following input output

coefficient matrix :

A=102 0 05/
0.4 0 0

The labour days required per unit of output of the th
€ three

sectors are 0.4, 0.7 and 1.2 r
» 0.7 espectively and th
eir consumer

output targets are 1000, 5000 and 4000 unit
S res

By using matrix algebra, find - pectively.

() The gross output of each secto
r.

(i) Total labour days required

P.T.O.



(6) 7793
T TR SR eIl R IART T By
ffated €

0 05 0
A=102- 0 05|
04 0 0

A ® U IR & fau 99 & & osm
fo STEREA FO: 04, 0.7 W 12 ¥ oK T

IARA A FHE: 1000, 5000 AR 4000 I Tl
e shomiom o wEm e Frefatea 9
it

) mmmwmi

() A 9H o= Aevasan

(@)  Solve the following linear programming problem by simplex
method :
Max. : Z=172x + 4x,
Subject to : 2x, +x,<18
3x, + 2x, 230
x, +2x, =26
x,x, 20

Also find the dual of the above problem. 12

£ R A 8

(73 7793
frerfafea Yom dnfi geen w1 faeced
fafy ¥ g1 =INT

Max. : Z=2x + 4x,
a’gﬁ & - 2x, + x, <18
3x, +2x, 2 30

X, t2x, = 26

X, Xy 2 0.

qg @ 39 GEEN H ed ot [ SIfNT
Or (3Tera)

Given the following initial simplex table of a minimization

problem :

BV X, X, S S, A A Quantty

A, 3 1 0 1 o 2
A, 1 1 0 0 0 1 21
cC > 8 4 0 0 M M

(/) ~ Write the corresponding linear programming

problem.

P.T.O.
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(i)  Solve it by simplex method.

(iif)  Is it a case of multiple solutions ? If yes, also find

the alternative solution. 12

Th AR T H SRk fower it
frefafen T . |

BV X, X, S, S, A A WM

Ay 31 44 0 1 0 27
A, I 1 0 o o 1 21
S, 1 2 0 1 0 o 40

Cj—>8 4 0 0 M M
O e How Wi gEen @t
@y 39 Toomm fafy ¥ za Fifm

(iif) 1 T I T Kl hE T 2 ARG &, A Tkt
TA @t T it

() A firm produces and sells two products A and B. The
profit per unit of A is ¥ 40 and per unit of B ¥ 30. The
products are processed on the same machine but sold

in two different markets. It takes three times of machine

(9) ' 7793

time to produce a unit of A as compared to a unit of
B, and if all time is devoted to producing A, the machine
can produce a maximum of 10,000 units. The market

research indicates that the firm can sell a maximum of 8,000

units of A and 15,000 units of B.

Formulate the above as a linear programming problem

to maximize profit and solve the same by graphical

method. 6

& FH A R B THE T SOE H SR Bl
3 i fawt ot A = gfa g | 240 IR
B ! Rt gfre ¥ 30 TS B B 5 SR A
IqAET TF & AYA W oAa ¥ W 3= o B
TN A AT STl 81 A W TE I W OTER
@ H, B ® TF I F TR FH F @
T T g9E ¥ A W 9 @ §)oafg
T T A R TG HE H O @R, @
el e 10,000 FFE 1 VAR R wwA F1
SR F G FA T T e ¥ R ow A
8,000 IS 3 B F 15,000 JE I Hehelt ¥
T o0 e NUHT Ten & w9 § wifim
At oW eifyrad & SR T fafy ¥ 3 v
HIfSTT |

P.T.O.
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Or (3T »

Using graphical method in a linear programming problem,

explain how would you identify the case of :

() Redundant constraint,
(i) No solution
(iify  Unbounded solution
(iv) Multiple optimal ;oiution.
Give a rough sketch of each case. 6
e St T # T fafy w1 wEm wiR
()  ATERIR Al
() R T T
(i)  AEE &A
(v) dg TLIH T
T HE w1 A o E"rﬁrqn

Find the price elasticities of demand and supply
at equilibrium point for the demand function
p? = ,/1()() — x2 and supply function x* = 2p — 10, where

p is price and x is quantity. 6

(11) 7793

T FTT ¢ - flo_y? T gward wad
¥ =2 -10% fou ¥gem fog = w1 9 g
T

Or (371a)

The cost of producing x units of TV sets by a monopolist
1s given by TC = ;—z + 3x + 100 and the Demand Functiqn
is given by x = 75 — 3p (where p is the price). If a tax
of ¢ per set is imposed by the government, determine the

monopolists’ output and price under the new situation.

Find the value of ¢ that maximises tax revenue to the

government. 6

THUER g TV ¥ &l x gl & Saeq 5t
WI?TTC=;—2'+3x+IOO§ITT3ﬂ'{tﬁ=‘TW
x =75 - 3p (S& p FFA ¥) G W= AR T
I THR B H ¢ 90 e T own oD, @

T # SR iR W ferfr F g oy
e HIfSTI &1 o0 99 FINT S TR 5

Tog ¥ Aferaq & o)

P10,
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() A publishing house purchases 2000 units of a particular
‘jtem per year at a unit cost of X 20. The ordering cost

per order is ¥ 50 and the inventory cost is 25% of the
|
value of the average inventory. Find the optimal order |

quantity and the minimum total cost. If the supplier offers |
|
a discount of 3% on purchases in. lots of 1000, should |

the offer be accepted ? 6 ‘

T TRE T T stged. st 2000 g wfa =
220 9 IfE W W QA whEw ¥ TR WY
misoﬁm%aﬂtaﬁmmﬁ?{iﬁ%‘iﬁi
T 25% AT W@ T1 TR SRW A SN
ST HE W WA CHIC) AR G 1000,

% @ § wlE F W 3% F u A FTEE

TEA ¥ W FN 3Y TEE H EER H AN
=few, 2 | |

|

Or (3TTa) _ \

The Demand function and the total cost function of a

monopolist are as follows :

|

p =100 — 3g + 4A% lt
- |
C =44 + 10g + A _ \

where A is the level of advertisement expenditure. Find\

the values of A, p and g to maximize profit. 6/

(©.

(13) 7793

Th TSR &1 AT o 3R e ara 6ol
39 YFR T

p =100 — 3g + 4A”
C=4¢"+10g + A

et A fomma o #1 TR R A, p AR g B
fysham @Y W oI I FHiSC

Suppose a firm has a production function Q = AK* L™
where A > 0 and 0 < o < 1. Show that production function

has diminishing returns to inputs and constant returns

to scale. 6

H cifse f6 s w9 &1 IURT HaAT
Q=AK*L'™* ¥ SRl A >0 3R 0 < o < 1. Wi #IfST
o SacA wen =1 ffast W seEE afawe six
O R A gfaEd e ¥

Or (37r4)

Find the MRTS and the elasticity of substitution for the

following CES production function :
x=AL, K) = [0K™® + (1 = o)L9]1"%,

(where x is the total output obtained by using L and K

units of labour and capital respectively, where o and [0}

are constants.)

P T:O:
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Wﬁ?ﬂamﬁm

x=flL, K) = [0K® + (1 — )L 4%,

u
(Sl x 9@ SR IS @ wEEn: L3R K gfEl e

TA e W RS SR § Sl o 3R ¢ Feerren
€1)

A small business is considering buying an energy saving
device which will reduce its cost of fuel. The device will
cost ¥ 32,000. Savings m rupees will occur at. the rate
of S(1) = 2000070, Vyhere t equals time measured in years.

Determine how long will it take for the firm to recover

the cost of the ‘device. 6

P Ty o R e ¥ R e e @
T A ST qE G T 32,000 F FL T
T S(0) = 20000005 T T A AR For ¢ A
#m o W e 1 feior st

Wﬁgﬁaﬁm\wmﬁﬁﬁﬁﬂmﬂ
T ?

7793
frefeafad CES 3R ®ad @ fau MRTS @ik

()

-
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Or (3721

A monopolist’s demand function is x = 240 — 10p, where

x is quantity demanded and p is price per unit. With the
. - ,

average cost function AC =10 + 55 find the consumer’s

surplus at the price which monopolist will like to fix to

maximize profit. 6

T TR T HT W x = 240 — 10p § o
T T A ¥ el p Wi Afre FHa ¥ ST
AT B AC = 10 + S0 T T STHET H
SRy §@ wifae fw #wmd | TEwifEE
stfymay @y 1 fAuifa e =R

Suppose that when it is  years old; an industrial machine
generates revenue at the rate of R'(¢) = 6025 — 87 rupees
per year and results in costs that accumulate at the rate

of C’(f) = 4681 + 13£ rupees per year :

(/)  For how many years is the use of the machine

profitable ?

(i)

What are the net earnings generated by the machine

during its period of profitability ? &

P.T.O.



e effwe fF s WA T W R T
SAeifier 7Y RY(1) = 6025 — 82 U TH AT &%
o g1 w ¥ iR wfomTEET S e e

3 C'(z)=4681+1399ﬁ66¥ﬁa1@r@‘@ﬁ

% |

() T ol # foau s weiE W wEm e

M ?

(i) TNYYSE i rafy H weie gro s e

T T E ?
Or ()
Given the margj i .
arginal revenue function MR = 2~ L
2x + 3)
show that average revenue function is p = i - 1. 6
. 6x +9
e ;
T T} fw dimig wses w90
Wt s o ST
ey 1 8 W R for S0
T Few ), - 4 |
P aye 1

C1/7) e

5. (@) Mr.X deposited T 50,000 in a bank for five years offering

interest at the rate of 8% ber annum compounded half
yearly during first two years, at the rate of 10% per annum
compounded quarterly for.the third year and at 9% per

annum compounded continuously for the next two years.

“ Find his balance after five years. . 5

ﬁw'x%@%ﬁswﬁmzso,oobm

.m@s%ﬁﬂﬂqﬁa@aﬁﬁgmaﬁ

%|%ﬁaaﬁaémﬁ$,ﬁlﬂiaéﬁm%gﬁfaﬁ
ﬁa@raﬁmﬁm@mﬁ%sﬂzm
aaﬁﬁﬁqmv%gﬁraﬁamm
>q %) ute o SR SEE W @ RIS

Or (M)

A debt of ¥ 3,000 which is due 6 years from now, is instead
to be paid off by three payments ¥ 500 now, T 1,500 in
3 years and a final payment of 475 at the end of n years.

If the rate of interest is 6% per annum effective, find the

value of n. 5

P.T.O.
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'zz,ooowwm@re-aﬁméﬁ%qﬁm'

O SR I T 500, % 1,500 A oW H oai
z475ﬁﬁﬁrqmwﬁnatﬁﬁwﬁqiaq‘
¥l Al = W AW AR W 6% WY & A |
n 1 Ued [ IS |

A loan of ¥ 10,000 is to be repaid by equal annual ‘
instalments of principal and interest over a period of

20 years. The rate of interest is 3% per annum effective.

Find :
() The annual installment; .

(i) The capital contained in 8th‘ installment; and

(iii)

The principal repaid after 12 installments have

been paid. g

|

210,000 1 1 20 T FT S1afY F Yo oK =S |
F R-ER ot fredt o olern &1 =
T W 3% vt o et ¥ 9@ FRC

() = fw,

() ot few § o o, sim

Gi) 12 fet & = weem g derm o1 s
] T ¥

©

(19) 7793
Or (314aN)

A machine bought for ¥ 50,000 is depreciated at 10% p.a.
on written down basis for 8 years. To make up the loss
dﬁe to depreciation a sinking fund is created by setting
aside a sum of money every year. What is the value of
each payment if the accumulated amount in the fund is
equal to total depreciation and if the interest is 5% p.a.

compounded annually ? 5

@ﬂ?ﬁﬂ%so,oooﬁ@ﬁﬁﬂﬁl 331:1?838?5%
fou @ STUR TR 10% (@ a9 H S H eI

o e T ¥ | e 5wt w gl @ few

aa&@ﬁmaﬁmwﬁ%ﬂﬁﬁlmw
fpem T 31 W SRERN W AR F T AR
wﬁmw@aw%maw
% oig AR 59 T T Twars =S uf s

S € ?

An orchard will yield its first full crop at the end of

5 years and is expected t0 maintain an annual income of

| % 5,000 for 20 years in all. Find the cash price of the

5
orchard if money is worth 3% per annum.
P.T.O.
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-wmﬁélﬁsaﬁm@ﬁmqﬁiﬁw
o o % el 3Ed emm € TR e fAemRR 20
a6 % T 5,000 I AR I AMAR TG Bl
it oS W T kA T B AR
1 g 3% WA a6 T

Or (31a)

Machine A costs ¥ 25,000 and has a useful life of 8 years.
‘Machine B costs % 28,000 and has a useful life of 6 years..
Suppose Machine A generates an annuai savings of
X 5,000 while machine B generat'es an annual savings of
% 5,500. Assuming the 'time value of n%onéy is 7% éffective,
which machine is prefefablé ? | 5
T A F AR 25,000 ¥ SR TR ITARA S
8 TS I ¥ WA B T WA 28‘,000‘% AR THH!
I S| 6 T w1 g1 WA et fm AR A
¥ 7 5,000 9fd o9 =@ Bl § Sefe HWIH B €

% 5,500 SNk TEd B § | ¥F 6 THG God JHE!
A W 7% & W hEE w9 Afumr et 2
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(A)" Fill in the blanks = - o 4
) .............. i performs the functlon of multi- |
programrﬁmg
1) I Rt N di.s;ilays information such as

Jinstructions, messages about the state of the

computer, or location of the cursor in the window.

TR S —— allows us to navigate from one

web page to another.
() OLE staﬁds for ........ :
B) Answer in one line :  ' 3
(). What is Ribbon ?
(i)  What is template ?
- (iii) .'_Explain audit t_rials.
(®) fo T % o A )
(‘0 R — SEdfE ‘% @ w1 ﬁ-sqm

() e et -{:L-—q:\-[aﬁ =1 facfsq s g

Agar faud) § HE w1 WA

_ (3) | T
»(il'i) S Bﬁ @aa ﬁTﬂ J {Fﬂ ¥ A
SN F oorAfa @ ¥
(iv) OLE g &Il %— .............. |

(@) T m F ww ahm

o fea a7 dmt?

(i) ST T OB ¥ O?

i) Srerrde e Al IS
What is operéting System (OS) ? Explain its functions. 6
WW(OS)W'@H“T% ? T FE F wRE

~ﬁf‘e‘rq1

Or (1A
Examine the role of the following in a computer network : 6
) Repéaters
(i{) Hub
(iii)  Switch.

Wﬁaﬁﬁﬁwﬁf@aﬁﬁﬁmﬁma

- wifeT

¢ Toded
(G =

@iy =
P.T.O.
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What do you mean by normalization ? Explain first three norma]

forms of a relational database. 6

AR ¥ ST T T € 7 e T
'%Wmmmﬁmﬁml -

Or (ama'r)

What is meant by wide area ‘network ? How does it differ

from local area network 7. 6

.‘mmmﬁmwm% 7@1%1:1:&414

mﬁ%%ﬂmfm@m%f)

" Explain the -two fundamental mtegrlty rules. . 6

‘ﬁwsmaﬁwﬁaﬁaﬁwmﬁﬁqn

” Or (m)

Explain the various keys of a relation used in RDBMS. 6

',msmsﬁmmaaﬁﬁfwmaﬁm

7794
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